Year 6: Order of calculating (pg 2)
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Put a tick or a cross next to these expressions to say whether the

answer S correct or lncorrect.

1.4+3x5=35 C] 23+7x2=17 C]
3.8+2x8=24 C] 4.5+5x5=50 [j

What is the value of:

5.4+ 4 x4 = C] 6.6 +3x3= C]
7.5+4x5 = D 8.8+A9Ax8= [j
.9-3x3= D 10.20-5x3 = [j
11.8-1x7= [j 12.50-5x5 = [j
13.7-9+3 = D 14.20-8+ 2 = [j
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1. J‘alse 2. true

5. 20 6. 15
q. 0 10. 5
13. 4 14. 16

Lots more like this on the MathSphere, ‘It’s All Figured Out’ worksheet CD www.mathsphere.co.uk
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Answers
3. true 4. false

7.25 8. 80

11. 1 12. 25
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